Fa29F EFE T AR XA ELHR (WA E) REBEME

1R (7E) B _ 5_{ERIRER _ 9 BIREIBMBERR
% #HIA % % 3 AlA AR 7l B EABN #l %
_ i 917 100.0 & e 752 82.0 BT I (%MW - 85 114
1102 (100.0) (910)|  (82.6) B R A %) (112)|  (12.9)
" 917] 1000 , 165 18.0 | 125 16.8
o qq0 oo [F % el 7a| [ETLEFMR) gl (83
- 96.1 - 917] 1000 - 188 253
> R * (94.8) A1 (1109 (100.0) BIWEF) o (225
86 116
S HEARAR . BINCEM) ol (15
% 3 N % = 142 19.1
6.7 -~ st = 472 51.5 EIVIREHR) (164)  (18.8)
(43) = Bl (538 (85) PR REITOER 118 15.9
- 478 52.1 : 5 265 28.9 CBEIHEE) (139)[ _ (16.0)
10 SH 3 ces| [FF F B A G @sn) — | 74 1000
N 251 274 = 19 21 : (870) _ (100.0)
6E ~1TOME oyl (74 & B R GO 8
N 96 105 = 6 0.7 10 SEIRE B AR EHAR
T1TE~15HE 83)| (1.5 & = @ 04 % B & BA B %
14 15 ) _ 1 01 ] 407 70.9
16E~20M o) (1.8 s R F B MW ol e B T e ) BT
. 17 19 - 14 15 - 5 09
2 1 BB W E 27 2.0) =2l e (18) (1.6) 5T fii7 + ©) ©09)
- 917] 1000 - 19 21 _ 1 0.2
AT (1102 (100.0) a = = 26)| (2.4 ®oE R L (&) (06)
e = 5.79 . 87 95 = . 8 14
%R E R (5.65) i B el a1 BREREHAMA (10) (1.5)
34 37 " 15 26
3 EEAMEMENR Tt 2 o w gl FE® W gp o
& #® B HA H % < 917 100.0 I 20 35
o - 176 192 A1 (1102 (100.0) ek el (25) (3.7)
(316) (28.6) F $® o E 0 0.0
1| ~ 5 @ 692 75.5 TeHRXEL ) )
(723)]  (65.6) 7. % - - 102 178
6 @ ~ 10 M 37 40 = % RBRMBRES 1) g7
(45) (4.1) = - 643 701 Sk HERA K= 0 0.0
11 @ Bt 12 13 - (784)|  (71.1) e (0) (0.0)
(18) (1.6) 274 29.9 - . = 1 0.2
X 53 7 & +
< 917 100.0 (318)[ _ (28.8) = (1) (0.1)
T @102 (100.0) - 917] 1000 s W '+ 15 26
T 1.64 | (1,102)]  (100.0) = a7 (2.5)|
T e 8 E (1.57) =t 574 100.0
KEZERFRE 2T H 8 ERF HIWE _ : (670)] (100.0)
T 5 &K # % )
4 _FERIRNER _ BT I (#W- 108 11.8 11, H & R#RAAER _
23 BE[A # % I A h =) (138)  (12.5) % #HIA o %
. 1 01 | 153 16.7 731 79.7
% M o oy [EEEEEP®| e ae| BT F| e ae
i 115 125 - 203 221 146 159
2 0 e e EIWN(EF) (222)[  (20.1) i X ® (17D (15.5)
i 336 36.6 95 104 40 4.4
8 0 Bl @] o] BTN CE®) o9l ol [T ? L e )
248 27.0 = 159 173 - 917 100.0
4 0 Bl sm| @59 BIVIRR) g asd A (1,102 (100.0)
5 0 I 151 16.5 ER(FELTOER 199 21.7
(179)]  (16.2) BT 5E/) (266)  (24.1)
5 o ® 55 6.0 m 917] 1000
(61) (5.5) i (1,102)] _(100.0)
i 10 11
7 0 K wal an
i 1 01
8 0 # @ 00
- 917] 1000
"l (1,102)  (100.0)
416
B OR B (41.3)
- N 19
- 80
= F & (79)

FE1:BRRD () NOKIET., BEFEEDRIE
T2 A RPOKET, MERAALTLDIEENHY.

B EBEH LI EEIT100%EASHNMEE A BB,



1 Hi BRI R
m _._E’ BIA B % 0 5 =T 5
" K % 64 7.0 X % _
— T @  (1.1) R &8 X # 5 05 #8 M RIA B %
"o K % 61 51l [ = @ on M al [ 3 03
(81) (7.3) THIE X% 5 05 " (5 (0.5)
X B KX % 57 6.2 ) AR x =] 3 03
— (56) (5.1) 5 T T .- 5 05 — 3 (0.3)
BN OE R K F 36 3.9 G| 05 = 7 =] 2 0.2
— 42| (38 0 M oK % 218 23.8 - (6) (0.5)
B B A X = 34 37 — 28|  (255) & B =] 2 02
— (€25 I CR) 2 K - B M 11 12 — (3) (0.3)
ER I ¥ X% 32 35 — a0l (09 = F =] 2 0.2
(40) (3.6) = B 5 05 — 2 (0.2)
BRES® B KE 32 35 Ml (06 = Ly B 2 02
@ eyl |F e i ox] I @ (02
B & x % 31 3.4 W 1) = & =] 2 02
5| 41 3 ) #h 2 02 — 1) 0.1)
2 5 B X = 29 32 @l (02 2 12 =] 2 02
(34) (3.1) £t 917 100.0 — (1) 0.1)
h £ K = (22 24 (1,102)|  (100.0) = 3* =] (2) 0.2
29) 26 . . 1 (0.1
HOK K % 21 (2.3) Mﬂi _ E R & =B 1 0.1)
(23) (2.1) B K RBRA B % — 4 0.4)
S - 17 19 R = £ 273 29.8 = U ) 1 0.1
(25) (2.3) (355) (32.2) (3) (0.3)
t & @& Kk = (17 19 o o R (145 15.8 & I =] i 0.1
18) (1.6 159)[ (144 (2 (0.2
B A K % 17 1.; x bR i 90 g_é & =] =} i 0.1)
(16) (15) (89) (8.1) (2) (0.2)
A M K 16 17 2] 3 B 60 65 W ] =] i 0.1
(19) 1.7 (77) (7.0) - (2) (0.2)
B & # K # 15 16 ¥ %= =] 56 6.1 Gy 18 =] i 0.1
— (13) (1.2) (67) (6.1) (1) 0.1)
M B K % 13 14 & & -] 54 5.9 th fiz L] 1 0.1
(10) (0.9) (68) (6.2) (1) (0.1)
XK I % X% 12 13 £ 0 =] 46 50 m & W B 1 0.1
(13) (1.2) — (56) (5.1) — (0) (0.0)
LEEBEIZ X% 12 13 = £ FF 23 25 = E =] 1 0.1
- (11) (1.0) (27) (2.4) (0) (0.0)
R I %K% 11 12 S 1 =] 18 20 5 HY =] 0 0.0
— (16) (1.5) (28) (2.5) 4D (0.1)
A A - 11 ) B fl | 17 o B 2 ] 0 0.0
. as)| (1.4 an| (1.5 — ) (0.0)
B OB K % 11 ) B = B 13 14 P &0 8 0 00
an| .0 (16| (15 () (0.0)
#WEEI KXY 10 1 5 8 13 o I s ;| B 0 0.0
— 0| 09 - (0| (09 0 (0.0)
RRRIX# 10 11 = B -} 12 1.3 5 i 2 0 0.0
(10) (0.9) an (1.0) () (0.0)
B & X # 9 10 I E =] 10 11 & 917 1000
S (16) (15) — - (11) (1.0) (1,102 (100.0)
= x % 8 0.9 & s =} 9 10 .
’ (14) (1.3) _ an (1.0) lgi' EEERRE XA N
£ R K % 8 0.9 = S =] 9 10 XA #[ %
@ (0.6) D) (1.0) S & 601 655
F oE X % 8 ool | A B 9 10 - (733)] _ (66.5)
@ (0.6) (9) (0.8) i g 195 213
10| (09 ® (05 H 2 64 7.0
X B oZOK 6 % B i 5 =] 5 05 ®3)| (15
— (10 (0.9) (5 (05) R W 17 19
ERB&EE X% 6 0.7 U = ] 4 0.4 (26) (2.4)
® o1 [z o s |F = 16 1.7
I %k X % 6 0.7 &S Il =] 4 04 (22) (2.0)
— ©) (0.6) (6) (0.5) = = 8 09
£ M K = 6 0.7 # B =] 4 04 (10) 0.9)
— G| 5 @l sl F it 8 0.9
A~ S N 5 05 a n =] 3 03 (10) (0.9)
anl a0 @ 08 i i & 8 0.9
ro®m ox 5 05 f] i =] 3 03 (6) (0.5)
8) (0.7) (5) (0.5) & 917 100.0
(1,102)| _ (100.0)

FE1:BRRD () NOKIET., BEFEEDRIE

/iz:ﬁn i%EF'O’)%I E .-‘-1 cl; 75 L & 7 »lOOCO 7 7 L |:|7§
l—(j:\ EEAL/ \éiﬁﬁ \&)\ :lljl:lémn L/ _t%( /t&b& \1741_ \%6
o




